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ORDER OF OPERATIONS

Hard - Parenthesis

1)(U3-3)x(8+5)+6 6)(0+28-2)-(12-3)
2)5x(3x2-9)+2 7)(3+2)x(8+2-3)
3)010+20-2)+H+3 8)(M+54-5)+4+2

4)2x(4x6-6)+6 9)(10+31-5)-(-3+6)
5)(M-2)x(8+5-5) 0)(U5-4)x(H-5)+9

Name: Remarks:
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ORDER OF OPERATIONS

Hard - Parenthesis

1)(U3-3)x(8+5)+6
O xI3+6

130 + 6
=136

2)5x(3x2-9)+2
5x(26-9)+2
SxI7+2

85 + 2

= 87
3)0+20-2)+4+3
(30-2)+H4+3
28 +H + 3

42 + 3

=45
H)2x(4Yx6-6)+6
2x(24-6)+6

2x18+6

36 + 6

=42
5)(MH-2)x(8+5-5)
2x(8+10)

12 x 18
= 216

6)(0+28-2)-(12-3)
(38-2)-9

36 -9

=27
7)3+2)x(8+2-3)
I5x(8+9)

15 x 17

= 2595
8)(+S4H-5)+4+2
(65-5)+4+2
60 +4 + 2

64 + 2

= 66

9)(0+3I-5)-(-3+6)
(4-5)-3

36 -3

= 33

0)(5-4)x (M-5)+3
lx9+9

99 + 9

= |08



